J.000 ——e=

4,00

@" ro

5 33

+)(
COIL
28VDC

OPERAT ING VOLTAGE
COIL
CONTACTS

RESISTIVE

MOTOR

28 v.D.C.
CONTACTS

MAIN

AUXEL | ARY
PICKUP VOLTAGE
DROPOUT VOLTAGE

10-32 UNF-2A STUD REF,

§ REQ'D

MAX, WEIGHT

AUX. CONTACT RATING

196 S0 DIA, INDUCT IVE
' RESISTIVE
4 MTG. HOLES doTon

8-32 UNC-2A STUD REF,
8 REQ'D

=—— 7,88 MAY, —e=

(LOCATION OPT.)

INDUCTIVE (75% P,

CONTACT RATING, MAIN

F.)

28 vDC

REVISIONS

| BH—138XAHLI?'

RELEASED

DESCRIPTION DATE  |APPROWED

-

35256] REDRANN, VIEWS UPDATED TO REFLECT
CERAMIC SEALS, FIND NOS 14 & 15 ADDED

98/04/02 v

200 VAC, 400 HZ

60 AMPS/PHASE
60 AMPS

60 AMPS

NOT SUITABLE

T.P.D.T, N.C,

2 SPDT

20 V. MAX,, HOT

0
7355V,
DESIGNED FOR AMBIENTS UP TO 120°C
COIL CURRENT AT 28 V. & 25°* C,

2 LBS.

VIBRATION PER PROCEDURE 1 MIL-E-5272A
MIN, OPERATING CYCLES

.50 AMP MAX,

T 12 I
0 O—a : Lt
12 O—a | i e, T}

50,000 d) O O O0O0
-2 B2 #1 M A} B3 A2 BI
3 AMPS
5 AMPS
3 AMPS NOTES :
1. "WARNING HIGH VOLTAGE" TO BE STAMPED
TOP SURFACE OF TERMINAL SHIELD.
2. MAX LEAK RATE PER MIL-R-6106 15
19.5 X 10=3 STD CC/SEC.
5 39529-009 | OVERLAY
4 39529-001 | OVERLAY
3 34315-030 | CONTACTOR ASSY. - PRIMARY
12 51810-054 | WASHER — LOCK NO.10 SPLIT BRASS
T1] 8 | 51808-064 | WASHER - LOCK NO.8 SPLIT BRASS
10| 2 [ 51806-031 | WASHER - LOCK NO.6 INT, BRONZE
9 | 9 | 51702-844 | WASHER - __375 X 203 X .032 FLAT BRONZE
8 | 8 [51712-104 | WASHER - 375 X 171 X 032 FLAT BRONZE
7 | 2 | 51206-641 | SCREW - 6-32 X 3/4 FILL.HD. BRASS
B |9 | 50410-054 [NUT - 10-32 X 312 X .140 HEX BRASS
5 1 8 | 50408-034 | NUT - 8-32 X 512 X .093 HEX BRASS
Z 13645-002 | SHIELD - TERMINAL
3 31949-001 | PLAIE - WIRING DIAGRAM
2 4475-045 | PLATE - BASE _COVER
1 6043-001 | PLATE - NAME
FIND | gTr PART (R NOMENCEATURE OR F504 DRAWING OR | MATERIAL
N0 |READ | IDENTIFYING KO BESCRIPTION NO SPECLF ICAT ION OR NOTE
(LI
MISS UL, Sy HARTMAN ELECTRICAL MANUFACTURING
TOLERAKCES 0N MANSF IELD, OHIOQ
2 PL DEC.|3 PL DEC.ANGLES
03 |- 010] « 10 O RIS [98/05 /1 CONTACTOR - A.C. POWER,
c s {
EnoR A leest 6] | P 0T N-C. (HERMETICALLY-SEALED)
MF G L T /05206 093
RELEASE v SIZE | CODE IDENT |DWG NO,
CONTR NO.
e C 740863 BH-138XAH

sCALE NONE | [SHEET




